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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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11:55 294 150.0 S| Rige11:55 Bz (REAERE)
12:55 294 150.0 e Rige12:55 Bz (REAERSE)
13:45 294 150.0 | B&| {Ri%@13:45 Bzl CGRAMEESE)
14:40 294 150.0 | BRige14:40 Bz GGREAERSE)
15:30 294 150.0 BE| Ri%e15:30 B (RF{EREE)
2it]2646.0 (9%) 1350.0 U REC: 2080.0, PH: 6.0

TERRHLER 2 STEEART (191.0 :

PRIAEBRIERE147.0 ml.

#H[ERECE (2660. 0 vs 5800. 0) 15

147.0), AlEEHT—R % XA HS

AEREMEC (2660.0) 5i%EEC (2000.0) RMELK KA, /T
[E&EC 5800.0 K&, i F{KECAE&FikE R




150 Fo—————F——————F——————F-—————F——————F-—————F——————F——————F——————F——————f——————F—————]
VI, VO¥RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET L 2000
100 1500 1528
s 1200 J176.,
50
184 Warning: lcol [FVI',| "FVO’'] missing 156
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©
e
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o
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
908 1 1 n
— Bylnit @D49 16:18: ET=1526 Fg=1950. 0 Ro=500.0 :
= I
= 200 1 I
<
<
>
E 100 -
o
D:. 4
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= B |Z=|2=|85=| B | B | B[ B | B[ B B 5 5 5 B 5 5 5 B 5 5 5 B 5
c 1
(—:_200— ByEt @D47 19:07: ET=1206 Fg=1176.0 Ro=nan : - 2000
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<
= e & @
E 100 -
o
D:. 4 4 @ FT
DA - S = e e
309_ 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
= B | Z2=5|2=|5=|25| B | B [Z2Z|2=(55[25] B 5 5 B 5 5 5 B 5 5 5 B 5
= 1
%_200— ByWoFv @D49 16:18: ET=1066 Fg=1350.0 Ro=324.0 :
<
o 1
< ' —$—8—9—*
E 100 - ) S . L 1000
5 I T
——& — @ 1
0 3 4 5 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
s P B22227 32" | R 52122127132 % | % [ B | % | % B | % | % % %% %%
0.6 -
0.4 1
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1500 { — 4
[ ] | _obs
1000 + —@— PPFD obs
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P3-15_0, Day=47 (2025-05-17)
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m=495, FV0=0 m=545, FV0=0 m=610, FV0=0

34 32 - —— ME —o— ME —o— ME
33 A 33 - 33 4
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32
32 39 -
31 30 A
30 A
| 31 1 31 A
99 29
-@— ME
28 ] T T T T T T T T T T T T T T
500 600 700 800 900 495 500 505 545 550 555 610 615 620
m=675,m FV0=0 m=745,m FV0=0 m=805,m FV0=0 m=865,m FV0=0
—o— ME —o— ME 34 7 —o— ME 34 —— ME
33 4 33
33 N 33 _
2 .
32 3 39
32
a1 31
31 A 31 A
T T T T T T T T T T T T T
676 678 680 682 745 750 755 805 810 815 865 870 875
m=925,m FV0=0 m m=495,m FV0=0 m=545,m FV0=0
34 —-o— ME - MW 40 - - MW - MW
42
41
39 A
% 40 -
40 -
38
32 3g
39 A
37
31 | T T T 36 ] T T T T T T T T T T T
925 930 935 500 600 700 800 900 495 500 505 545 550 555
m=610,m FV0=0 m=675,m FV0=0 m=745,m FV0=0 m=805,m FV0=0
41.0 —-— MW 21 —o— mw 49 - —-— MW - MW
42 -
40.5 a1
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40. 0 A 41 -
40 -
39.5 1 40 4
40
39. 0 ~ 39 +
39 A
38 5 - T T T T T T T T T T 39 B T T T
610 615 620 676 678 680 682 745 750 755 805 810 815



m=865, FV0=0
—— MW
42
41 -
40 -
865 870 875

m=925, FV0=0

42.5 -

42.0 -

41.5 -

41.0 -

40.5 -

40. 0 -

—o—

M_W

925

T
930

T
935




hour

:10 -

:00 -

:00

:00

:50

:35

115

:00

100

80

- 60

- 40

§_

&

@
s
s
%,
%y

.
o
)

%

3,



P3-15

BriE) | EBIATK (D) | EHE (EH/HK) | XK ERE

07:15 300 150.0 S| {Ri&e07:15 Bal (REAEESE)
07:20 300 150.0 RE| {Ri%&e07:20 Bz (REERS)
08:45 300 150.0 RS {Ri%@08:45 Bz (REEEE)
09:50 300 150.0 |Z=| 1Ri&@09:50 Bz (FKPBEEEE)
11:00 300 150.0 (2 =| 1BRi%e11:00 Bz (kAFERSE)
12:00 300 150.0 (B =| 1Ri%e12:00 Bz (kBFERSE)
12:50 300 150.0 | =| {Ri&e12:50 Bz (KRBEEE)
13:35 300 150.0 |Z=| 1Ri&e13:35 Bzl (GREAEESE)
14:15 300 150.0 (2 =| BRi%e14:15 Bz (kBFERSE)
15:00 300 150.0 |Z=| 1{Ri&e15:00 Bzl (GRPB{EEE)
21t 3000.0 (10)%) 1500. 0 32333 %EC: 2080.0, PH: 5.8

FERRNEREEFEEART (195.0 : 147.0), AgEHF—RE XAH5
PRIAEBRIERE147.0 ml.

AEREMEC (2660.0) 5i%EEC (2000.0) RMELK KA, /T

[E);%EC 5395.0 K5, ZEiLBIKECAEZ hEER

H#EHECE (2660. 0 vs 5395.0) id5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=46 (2025-05-16)

T e g g g S B B

100 A

50

100 ~

VI, VO PRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1600
261

194 Warning: lcol [FVI',| "FVO’'] missing

1500 470

184

- 2000

108
- 1000

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

200

300 -

200

100 A

Bylnit @49 16:18: ET=1330 Fg=1800.0 Ro=468. 0

p——@ \ 4 \ 4

P N N

- 2000
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80 A
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cumET (ml/plant) cumET (ml/plant)
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660 860
m=635,n FV0=0

T T
640 645

m=845,m FV0=0

850 855

m=465,m FV0=0

470 475

m=465, FV0=0

32
31 4
30
29 -
T T T
465 470 475
m=690,m FV0=0
33 4
32 4
31 4
T T T
690 695 700
m=890,m FVO=0
34
33 4
32 4
31 R T T T
890 895 900
m=515,m FV0=0
41 -
40 -
39 4
38 R T T T
515 520 525

m=515, FV0=0
33
32
31 4
515 520 525
m=745,m FV0=0
33
32
31 4
30 1
745 750 755
m=960,m FV0=0
34
33
32 4
960 965 970
m=580,m FV0=0
41 1~
40 -
39
38
580 585 590

m=580, FV0=0

33 A

32 -

31 A

5é5 5é0
m=800,n FV0=0

33 A

32 A
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30 -
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40 -

38 A
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600 800

m=635,m FV0=0

41

40 -

39 A

640 645
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P3-15

BfiE) | EBIETK D) | El=E (EH/HK) | XK ERE

07:10 294 150.0 (2 =| 1Ri%e07:10 Bz (GkBERESE)
07:15 294 150.0 | =| 1Ri&e07:15 Bz (KRBEEE)
07:40 294 150.0 (2 =| 1Ri%e07:40 Bz (kBFERSE)
08:50 294 150.0 (& =| 1Ri%e08:50 Bz (kBEREE)
09:55 294 150.0 FA| {RRi&@09:55 Bzl (kA{EEEE)
11:00 294 150. 0 S| Ri%@11:00 Bz (REERESE)
12:05 294 150.0 e Rige12:05 Bz (REAERSE)
12:55 294 150.0 el Rige12:55 Bal (REAEESE)
13:45 294 150.0 B 1Rige13:45 Bzh (REERESE)
14:30 294 150.0 BS| 1Ri%e14:30 Bz (GREMEEEE)
15:20 294 150.0 S| Ri%e15:20 B3 (REERESR)
16:20 294 150.0 B 1Rige16:20 Bzh (REAEESE)
249t 3528.0 (12%) 1800. 0 3ESFHKEC: 2080.0, PH: 5.7

TERRHLER 2 STEEART (195.0 :

ZRIALBRIERE150. 0 ml.

150.0), FAEEHT—@ % XA HS

large discrepency for begining water status (316:93.0), set to 316 ml.
REREIBREC (2715.0) 5IZTEEC (2000.0) wEHKK, HHRE
[E/&EC 5250.0 K75, EiFARECAL&AIEER

FHERECE (2715.0 vs 5250. 0) 145




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=45 (2025-05-15)

150 A

100 A

50

200 A

100 A

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2113
1600 626
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120 708
I62 Warning: lcol [FVI',| "FVO’'] missing 194

Vi
FRV

- 2000

- 1000

FRV (ml d-1)

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

TargetPH=6. 5, TargetSetPH=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing
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200

100 A

Bylnit @D49 16:18: ET=1341 Fg=1776.0 Ro=371.0
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m=495, FV0=0 m=5395, FV0=0 m=590, FV0=0

30 - 31 33 -
M_E -o— ME - ME -o— ME
29 1 30 392
28 4 29 -
31
27 28
30 4
26 - 27 4
29 4
T T T T T T T T T T T T
600 800 1000 495 500 505 555 560 565 590 595 600
m=635,m FV0=0 m=675,m FV0=0 m=735,m FV0=0 m=790,m FV0=0
—o— ME —o— ME 13 4 —o— ME 23 - —o— ME
33 A
32 32 1
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31
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30
30 A
T T T T T T T T T T T
640 645 675 680 685 735 740 745 790 795 800
m=845,m FV0=0 m=885,m FV0=0 m=940,m FV0=0 m=995,m FV0=0
—o— ME 34 —— ME 34 4 —o— ME —o— ME
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33 n 33 N
33 A
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32 4
31 A
31 4
850 855 885 890 895 940 945 950 995 1000 1005
m m=495,m FV0=0 m=555,m FV0=0 m=590,m FV0=0
31.5 1
MW -@— MW -— MW -— MW
29.5 A i
31.0 34
30. 5
29.0 1 33 4
30. 0 A
28.5 - 29.5 1 32 7
29.0
31
28.0 - 285 -
T T T T T T T T T 30 T T T
600 800 1000 495 500 505 555 560 565 590 595 600



m=635, FV0=0
—— MW
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m=675, FV0=0
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m=735, FV0=0
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